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Monoblock  - Blatt 1/Netzteil 1
Stückliste

R1 = 1M
R2 = 1M
R3 = 100 2W

C1 = 220n
C2       = 220n

S141 = K250

F1 = 1.6Atr

Monoblock  - Blatt 2/Netzteil 2
Stückliste

C1 = 0,22µ
C2 = 100µ 350V
C3 = 100µ 350V
C4 = 10µ 450V
C5 = 100µF 450V
C6 = 10µ
C7 = 10µ
C8 = 10µ
C9 = 47µF 350 V
C10 = 440µF  400V
C11 = 990µF 400V
C12 = 0,22µ 400 V
C13 = 0,22µ 630 V
C14 = 0,22µ 630 V

R1 = 2,2k
R2 = 2,2k
R3 = 33k
R4 =
R5 = 4,7k 2W
R6 = 22K 2W
R7 = 1k 2W
R8 = 1k 2W
R9 = 47 25W
R10 = 47 25W
R11 = 150k 2W
R12 = 220k 2W

D1 = 1N4007
D2 = 1N4007
D3 = 1N4007

F1 = 0,2A tr.
F2 = 0,4A tr.

P1 = 100k
P2 = 50k

RO1 = 5U4GB (5U4G)
RO2 = 6x5GT

R5 + 6 = 2x0,47 2W

Monoblock-Blatt 3/Netzteil 3
Stückliste

R1        = 1 x 220
R2        = 1 x 1,8k
R3        = 1 x 47k
R4,R5     = 2 x 1k

C1        = 1 x 4700µ25V
C2        = 1 x 47µ
C3        = 1 x 100µ
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Rel1,Rel2 = 2 x

LED1,LED2 = 2 x rot

D1,D2     = 2 x

F1        = 1 x 1,6 A tr

Br1       = 1 x GI

T1        = 1 x BC557 B

SR1       = 1 x LT 1086 CT

P1        = 1 x 1k

Monoblock – Blatt 4 Vorverstärker und Endstufe
Stückliste

R1        = 1 x 10k
R2,R15    = 2 x 22k
R3,R7     = 2 x 2,7k
R4        = 1 x 220k
R5,R14    = 2 x 1,5k
R6        = 1 x 4,7k
R8        = 1 x 120
R9        = 1 x 47
R10       = 1 x 220
R11       = 1 x 1,5
R12       = 1 x 8,2
R13       = 1 x 470

C1,C3     = 2 x 0,22µ
C2        = 1 x 0,22µ
C4        = 1 x 2,2µF MKP
C5        = 1 x 100pF
C6        = 1 x 2,2µ

RO1,RO2   = 2 x 6SL7GT
RO3       = 1 x 6C33C-B

LED1,LED2 = 2 x 3 mm gelb

P1        = 1 x 100k

Tr1       = 1 x

V1        = 1 x Anzeige


